Algebra I 
Problem Set #15 – Skill Review
        
Name:____________________


Period:_______


Skill 1: Solve Multi-Step Equations

Solve for c:
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Skill 3:  Evaluate and graph a function

A limousine company charges a flat rate of $150 and $50 per person for a 4 hour

ride.  The function that represents this situation is 
[image: image2.wmf]150

50

)

(

+

=

p

p

C

, where C represents 

the total charge in dollars and p represents the number of people.
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Use your graph to find out how many

people can ride in the limo for $475?

Skill 3: Write the Equation of a Line between Two Points


Write the equation of the line that passes through the following two points, leaving the equation in slope-intercept form.
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Skill 4: Graph Linear Equations


Put the following equation into slope-intercept form and graph.



[image: image5.wmf]20

5

8

-

=

-

-

y

x



Skill 5: Write an equation of a parallel and/or perpendicular line given an equation and a point.

Write the equation of a line parallel ( ⁄⁄ ) to 
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 that passes through the point (9,12).

Skill 6: Proportional Reasoning


A 12 oz bag of chocolate chips has approximately 576 chips in it.  How many chocolate chips would you expect in a 2 lb (32 oz) package?  Round your answer to the nearest chocolate chip.

Skill 7: Use the Pythagorean Theorem to Solve a Problem

The following roof spans 36 feet and is 9 feet high.  Find the length of one side of the roof (y).  Round your answer to the nearest tenth.
Skill 8:   Simplify Exponents 

Use properties of exponents to simplify the following expression, using only positive exponents. 
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Skill 9:  Solve a System of Linear Equation by Graphing
Solve the system by graphing.  Identify the point of intersection on your graph and check your solution.


[image: image8.wmf]3

3

=

+

y

x




[image: image9.wmf]8

2

-

=

-

y

x


      1        2      3       4       5       6       7       8       9      10


People





200





100





600





500





400





300





$





9 feet





36 feet





y





y





x








_1224068349.unknown

_1251544497.unknown

_1257765706.unknown

_1018946833.unknown

_1024312351.unknown

_1132549047.unknown

_1024312329.unknown

_1000200382.unknown

